1138 & & "

R G- S P EN - I 4 B L EPEE LS| B A 4
5 - 54
FLu BB 113.10.7
FEc113 23 R R ANk W ris 13 & 1238751 e
_— v

MR B @A AZE 100 F 0 11100 A3 REDBFEEEE 0 0APE o
— ~ FHIERE  (F5RE 2.5 %) 0 65 %))
L FHMaE B E 2 (ABEEEZY (B EFTR/KIIAME (CRTHEE OEElER  (E)ERIE -

2. RIERIEARENT 12 & Hy H[H2]=[12] * Rl Hog)+ la) = 2HI (g2 S FEZE -7 - T 51158 (s el o] 2 (e 2

Agt . B) C) D)., E).
( )% ——_— )g ) ( )j§ ( )jE - ( )}E -
E [HZJ N [12] = [Hz] =
*|/Erm [Ha] ~ [} [H1] L] [F] - (L]

iSiE FRr Al BE | 3

3. MIENA+2B =3C: MIEERBNEEEIEEDE - [F#GHE NrGa - PlREBEEAM AR 2 (A)A ' 1.0mol B 4.0
mol~C:3.0mol (B)A:14mol~B:48mol~C:18mol (C)A:00mol~B:20mol~C:4.0mol (D)A:0.2mol"
B:24mol~C:54mol (E)A-18mol~B:56mol~:C:0.6mol-

4. 75 KR CO thigs DimBREUaR IIRIE RS 2 DhaE » IEFR R AT i MY 2kiRg 2 (AENRPIIRE  (B)
HETAci (C)YZEFHAUE  (D)efBiibet: (E)yF e -

5. ¥ —w[HiIE A+ B = 2Cq+4D() » FEiEm ~ ER T (e E A B B REET -y - FHIEIEMEE ] IR CERL
FHHREE 7 (AFECEEYIT > S ZRELLIA] - [B] S [C] - [D]=1:1:2:4 (B)=VHITEAE CEET
REEAHLE  (D)SE—EER - AT B RVEHEIR O EFER C M D (EHEMIIE (BE)SE—FEREFRHR > &

FREEAE -

6. H—mJ I E R Axg +2Bag) = 2AB) > F51E 327°CHs > RESIERY 3 BA VR H B Ko > RIAE 327°CHY - FERFERVRE
BrEBK) R THIIE 2 (AKe=Kp  (B)Ke=(327R)K; (C)Ke=(327R) *Kp (D)Ke=(B00R)Kp  (E)K:=(600R) 'K °

7. B4 25°CHE CH3COOHug) = CH3COO (ag+H gy K=2x10 5> H0 Y Kw= 107%* » HI[Z CHsCOOH@g+OH @) =

n R¥E s

CH3COO g+H0p K=? (A)—— (B)2x10° (C)5x10 ° (D)10 * (E)2x10°- " : :
2x10 E’éwl/—

8. FfTBL IS RS Nog + 3Hag) = 2NHag+ 918 kI - BRI T s e - | o [
SIS CRA TPIMMREAE 2 (VBTSSR @Es TRoE Omler KT

Tl A Heg (D)EMES THA He (ENIAMEILH - ~—

R FEEsRE —
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